

# THE LATEST THUNDER NEWS & INFORMATION

May 18, 2014 Issue

# GIL STOVALL BARBEQUE FEST INVITATIONAL 2014 Congratulations To All Swimmers

#### Silver

Emily Addison- Time Improvement, 6<sup>th</sup> 100 Back, 6<sup>th</sup> 100 Breast, 8<sup>th</sup> 50 Breast

Alex Guild- Time Improvement, 5<sup>th</sup> 50 Fly, 6<sup>th</sup> 100 Back

#### **Southeasterns**

**Ginger Anders- Time Improvement** 

Ally Carpenter- Time Improvement, 8<sup>th</sup> 100 Back, 5<sup>th</sup> 50 Free, 8<sup>th</sup> 200 IM, 8<sup>th</sup> 50 Back

**Libby Davis-Time Improvement** 

**Dylan Gorman-Time Improvement** 

John Knighton- Time Improvement

Megan Mathers- Time Improvement, 7<sup>th</sup> 50 Free, 7<sup>th</sup> 100 Breast

**Macie Mathers- Time Improvement** 

**Dylan Myer- Time Improvement** 

Anna Caroline Morman- Time Improvement, 7<sup>th</sup> 200 Free, 8<sup>th</sup> 50 Free Augustina Naldoza- Time Improvement, 8<sup>th</sup> 50 Breast Katie Pritchard- Time Improvement

Carmen Witt- Time Improvement

# Black 1

Mark Addison- Time Improvement, 6<sup>th</sup> 400 Free, 7<sup>th</sup> 200 Free, 7<sup>th</sup> 100 Back, 7<sup>th</sup> 100 Breast, 7<sup>th</sup> 200 IM, 8<sup>th</sup> 50 Breast

Natalie Eslami- Time Improvement

Grace Garrison- Time Improvement

Jenna Halliday- Time Improvement, 1<sup>st</sup> 50 Fly, 2<sup>nd</sup> 100 Back, 1<sup>st</sup> 50 Free, 2<sup>nd</sup> 100 Breast, 1<sup>st</sup> 100 Free, 2<sup>nd</sup> 50 Breast, 6<sup>th</sup> 100 Fly, 1<sup>st</sup> 50 Back

Micca Lejwa- Time Improvement

Colby Reeves- Time Improvement

Levi Reeves- Time Improvement, 8<sup>th</sup> 100 Fly

Hobson Stelling- Time Improvement, 6<sup>th</sup> 50 Breast, 8<sup>th</sup> 50 Back

John Wright- Time Improvement, 8<sup>th</sup> 200 IM, 4<sup>th</sup> 100 Fly, 6<sup>th</sup> 50 Back

# Black 2

Gabby Acker- Time Improvement, 1<sup>st</sup> 50 Back, 2<sup>nd</sup> 100 Breast, 5<sup>th</sup> 50 Free, 1<sup>st</sup> 50 Breast, 6<sup>th</sup> 100 Back, 3<sup>rd</sup> 200 Breast

Joseph Addison- Time Improvement, 3<sup>rd</sup> 50 Back, 7<sup>th</sup> 200 Back, 8<sup>th</sup> 100 Back

Liam Anders- Time Improvement, 4<sup>th</sup> 100 Back, 8<sup>th</sup> 50 Free, 7<sup>th</sup> 100 Free, 7<sup>th</sup> 50 Breast, 4<sup>th</sup> 50 Back

Amber Austin- 4<sup>th</sup> 1500 Free

Alexis Bourdeau- Time Improvement, 5<sup>th</sup> 50 Back, 8<sup>th</sup> 100 Breast, 8<sup>th</sup> 50 Free, 4<sup>th</sup> 50 Breast

Dani Cagna- Time Improvement, 8<sup>th</sup> 200 Free, 3<sup>rd</sup> 50 Back, 8<sup>th</sup> 400 IM, 7<sup>th</sup> 100 Back

Aston Carpenter- Time Improvement, 3<sup>rd</sup> 50 Free, 7<sup>th</sup> 400 Free, Avery Carpenter- Time Improvement, 7<sup>th</sup> 100 Back, 8<sup>th</sup> 50 Back Wood Davis- Time Improvement

Ryan Gorman- Time Improvement, 5<sup>th</sup> 100 Fly, 2<sup>nd</sup> 100 Breast, 3<sup>rd</sup> 200 Back, 2<sup>nd</sup> 400 IM, 3<sup>rd</sup> 200 Fly, 4<sup>th</sup> 100 Back, 2<sup>nd</sup> 200 Breast JoBeth Hillyard- Time Improvement, 8<sup>th</sup> 200 IM

Eva Kerr- Time Improvement, 4<sup>th</sup> 400 Free, 4<sup>th</sup> 200 Free, 4<sup>th</sup> 50 Fly, 6<sup>th</sup> 100 Back, 2<sup>nd</sup> 50 Free, 5<sup>th</sup> 200 IM, 4<sup>th</sup> 100 Free, 5<sup>th</sup> 50 Back Connor Lawlor- Time Improvement, 5<sup>th</sup> 50 Back, 8<sup>th</sup> Breast Jackson Lewis- Time Improvement, 8<sup>th</sup> 50 Back

Jake Pritchard- Time Improvement, 4<sup>th</sup> 50 Back, 3<sup>rd</sup> 100 Breast Jonathan Simcoe- Time Improvement, 8<sup>th</sup> 200 Free, 8<sup>th</sup> 100 Fly, 8<sup>th</sup> 200 Back, 8<sup>th</sup> 200 IM, 5<sup>th</sup> 100 Free, 7<sup>th</sup> 100 Back

Audrey Still- Time Improvement, 7<sup>th</sup> 400 Free, 8<sup>th</sup> 200 Free, 7<sup>th</sup> 100 Free Daniel West- Time Improvement, 1<sup>st</sup> 400 IM, 3<sup>rd</sup> 200 Free, 3<sup>rd</sup> 100 Back, 2<sup>nd</sup> 100 Breast, 2<sup>nd</sup> 200 IM, 4<sup>th</sup> 100 Free, 2<sup>nd</sup> 50 Breast, 3<sup>rd</sup> 50 Back

### **Senior B**

Livi Ayers- Time Improvement
Rachel Banks - Time Improvement, 3<sup>rd</sup> 1500 Free, 8<sup>th</sup> 400 Free
Sam Brackens- Time Improvement, 8<sup>th</sup> 400 IM, 4<sup>th</sup> 200 Fly,
6<sup>th</sup> 400 Free

**Colin Burt- Time Improvement Zach Conrad- Time Improvement** 

Annie Davis- Time Improvement, 8<sup>th</sup> 200 Breast

Caelan Douglas- Time Improvement, 3<sup>rd</sup> 100 Breast, 1<sup>st</sup> 50 Breast, 3<sup>rd</sup> 200 Breast

Rebeka Eberle- Time Improvement, 5<sup>th</sup> 100 Breast, 4<sup>th</sup> 50 Free, 5<sup>th</sup> 200 Fly, 5<sup>th</sup> 200 Breast

Mary Hannah Gaushell- 5<sup>th</sup> 200 Free, 4<sup>th</sup> 100 Fly, 5<sup>th</sup> 200 Back, 5<sup>th</sup> 400 IM, 5<sup>th</sup> 200 IM, 3<sup>rd</sup> 200 Fly, 8<sup>th</sup> 100 Back

**K J Guenther II- Time Improvement** 

Shelby Halliday- Time Improvement, 6<sup>th</sup> 50 Back, 6<sup>th</sup> 50 Free, 6<sup>th</sup> 200 Back, 8<sup>th</sup> 200 IM, 6<sup>th</sup> 200 Breast

**Susanna Hamsley-Time Improvement** 

Delaney Nolan- Time Improvement, 7<sup>th</sup> 200 Breast

Sarah Beth Pritchard- 4<sup>th</sup> 100 Breast

Maddy Purvis- 4<sup>th</sup> 1500 Free

Rick Reinhard- Time Improvement, 3<sup>rd</sup> 1500 Free, 5<sup>th</sup> 200 Free, 5<sup>th</sup> 50 Free, 4<sup>th</sup> 400 IM, 5<sup>th</sup> 200 Fly, 4<sup>th</sup> 400 Free

**Luke Schueler- Time Improvement** 

Gio Scott-McCabe- 8<sup>th</sup> 100 Breast

**Landen Seddon- Time Improvement** 

Frances Sentilles- 7<sup>th</sup> 400 IM, 3<sup>rd</sup> 200 Fly, 6<sup>th</sup> 400 Free

Lucas Simcoe- 6<sup>th</sup> 100 Free

Soham Sinha- Time Improvement, 7<sup>th</sup> 200 Free, 7<sup>th</sup> 100 Fly, 7<sup>th</sup> 50 Free, 7<sup>th</sup> 100 Free, 8<sup>th</sup> 400 Free

**Courtney Stephens-Time Improvement** 

Caroline Wade- 7<sup>th</sup> 400 Free

## **Senior A**

Christian Berry- Time Improvement, 3<sup>rd</sup> 1500 Free, 3<sup>rd</sup> 200 IM, 1<sup>st</sup> 200 Fly, 4<sup>th</sup> 100 Back, 4<sup>th</sup> 400 Free

Caitlin Cagna- Time Improvement, 7<sup>th</sup> 100 Free, 7<sup>th</sup> 100 Back

Daniel Hayes- 6<sup>th</sup> 50 Fly, 7<sup>th</sup> 200 Free, 7<sup>th</sup> 100 Fly

Joseph Hillyard- Time Improvement, 7<sup>th</sup> 50 Fly, 8<sup>th</sup> 100 Fly, 6<sup>th</sup> 200 Fly

Parker Kaye- Time Improvement, 8<sup>th</sup> 200 Free, 4<sup>th</sup> 100 Breast, 7<sup>th</sup> 200 IM, 6<sup>th</sup> 400 Free

Katie Kelsoe- 6<sup>th</sup> 200 Free, 1<sup>st</sup> 50 Back, 5<sup>th</sup> 50 Free, 4<sup>th</sup> 200 IM, 8<sup>th</sup> 100 Free, 1<sup>st</sup> 100 Back, 3<sup>rd</sup> 200 Breast

Braeden Leach- Time Improvement, 5<sup>th</sup> 50 Back, 2<sup>nd</sup> 200 Back, 6<sup>th</sup> 100 Back

Mitchell Lee- Time Improvement, 5<sup>th</sup> 100 Breast

Lynley Matthews- 5<sup>th</sup> 50 Back

Jack McCragren- Time Improvement, 3<sup>rd</sup> 200 Free, 5<sup>th</sup> 100 Fly, 7<sup>th</sup> 200 Back, 8<sup>th</sup> 50 Fly, 2<sup>nd</sup> 400 IM, 2<sup>nd</sup> 200 Fly, 7<sup>th</sup> 100 Back, 2<sup>nd</sup> 400 Free

Alex Robinson-- Time Improvement, 1<sup>st</sup> 1500 Free, 1<sup>st</sup> 50 Back, 3<sup>rd</sup> 50 Free, 5<sup>th</sup> 50 Fly, 4<sup>th</sup> 200 IM, 2<sup>nd</sup> 100 Back, 1<sup>st</sup> 400 Free

Garrett Stelling- Time Improvement, 4<sup>th</sup> 100 Fly, 1<sup>st</sup> 50 Free, 2<sup>nd</sup> 100 Free, 3<sup>rd</sup> 100 Back

Josh Walsh- 1<sup>st</sup> 200 Free, 1<sup>st</sup> 100 Fly, 6<sup>th</sup> 200 Back, 3<sup>rd</sup> 200 IM, 2<sup>nd</sup> 400 Free

Jordan Wilcher- - Time Improvement, 7<sup>th</sup> 100 Breast, 8<sup>th</sup> 200 Fly, 1<sup>st</sup> 200 Breast

If we inadverntantly left out any swimmers email Bobbie Jo or Randy so we might correct future reports.

Thanks, hillyardrandy@yahoo.com